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Einstein-Podolsky-Rosen Paradox
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Population Particle 1 Particle 2

N1 ( ˆ , ˆ , ˆ )a b c+ + + ( ˆ , ˆ , ˆ )a b c− − −
N2 (ˆ , ˆ , ˆ )a b c+ + − ( ˆ , ˆ , ˆ )a b c− − +
N3 (ˆ , ˆ , ˆ )a b c+ − + ( ˆ , ˆ , ˆ )a b c− + −
N4 (ˆ , ˆ , ˆ )a b c+ − − ( ˆ , ˆ , ˆ )a b c− + +
N5 (ˆ , ˆ , ˆ )a b c− + + ( ˆ , ˆ , ˆ )a b c+ − −
N6 (ˆ , ˆ , ˆ )a b c− + − ( ˆ , ˆ , ˆ )a b c+ − +
N7 (ˆ , ˆ , ˆ )a b c− − + ( ˆ , ˆ , ˆ )a b c+ + −
N8 (ˆ , ˆ , ˆ )a b c− − − ( ˆ , ˆ , ˆ )a b c+ + +

Hidden Variables
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Quantum Mechanics
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